Use multiplication to solve each word problem.
Show the work for each problem. ( three digit )

1. Chetan has 120 students in one batch of
dance class. How many students do
Chetan have in 5 batches together?

2. A parking lot has capacity for 200 cars
parking .How many cars in 4 parking lot

would have?

3. A school has 550 students in every
grade level. How many students in such all

will nine divisions have?

4. If a charity foundation donates for

3 organizations every year.

How many organizations would
have got donation in 145 years?

9. Ajute bag has 345 kg. rice.

How much rice in all 6 bags
together?

Statement WWork

Chetan has students
in one batch 1 20

students

in five batches > 5

Total students 6 OO
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